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MA126 Exam 3 (version 1)
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1) A quantity of protactinium-234 initially has a mass or one gram. If
the half life of this isotope is 1.14 minutes, how much remains after 5
minutes have elapsed?
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2) Find the limit of the following sequence, if it exists:
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3) Find the volume of the solid obtained by rotating about the y-axis
the region bounded by the curve y = sinz and the z-axis between 0
and 7.
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4) Automobiles arrive randomly at a toll booth. If the time between
arrivals t (measured in seconds) follows an exponential distribution
with probability density function

_Jo if t<0
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find the average time between arrivals.
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5) Use Euler’s method with a step size of 0.2 to estimate y(O 6) where
y(z) is the solution of the initial-value problem
y =1-zy, y0) =0
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6) Solve the equation
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7) Find the length traced by the curve

t t
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as t varies from 1 to 2.
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8) For what values of k does the function

y = coskt
satisfy the differential equation
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9) Determine whether the series
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converges or dlverges If it converges find the sum.
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10) Find value(s) of b so that the average value of
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on the interval [0, d] is 3.
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